Intermediate 1 - Applications of Maths

Practice Assessment Homework
Outcome 1

Q1.
Erin Brown works in a DIY store. Part of her payslip is shown below.

	Name
	Employee No.
	Week No.
	Tax Code
	NI Number

	Erin Brown
	56789321
	34
	521H
	HG 45 23 12 E

	Basic Pay
	Overtime
	Bonus
	Extra Payment
	Gross Pay

	£354
	
	-
	-
	

	Nat. Insurance
	Income Tax
	Pension
	Other
	Total Deductions

	£54.89
	£72.34
	-
	-
	

	
	
	
	
	Net Pay

	
	
	
	
	


Erin’s Basic rate of pay is £8.00 per hour. When Erin works overtime she is paid at time and a half.

a) Find her overtime pay when she works 9 hours overtime. 

Write your answer in the payslip.

b) Complete her payslip
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With Loan Protection

	Loan Period
	Amount of Loan
	Monthly Repayment

	12 months
	£1000
	£104.45

	
	£2000
	£210.30

	24 Months
	£2000
	£115.87

	
	£3000
	£175.03

	
	£5000
	£287.76



Without Loan Protection
	Loan Period
	Amount of Loan
	Monthly Repayment

	12 months
	£1000
	£94.33

	
	£2000
	£192.43

	24 Months
	£2000
	£98.21

	
	£3000
	£147.12

	
	£5000
	£243.54


Mrs Goldsmith took a loan of £2000 from Broch Bank to be repaid over 12 months with loan protection.

a) Write down her monthly repayment

b) Calculate the total amount repaid at the end of the 12 months.

Outcome 2

Q3.
The network diagram below shows routes and distances in miles between four places.
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a) Write down the order of the node at Strachur

b) How many miles is the shortest route from Dunoon to  Inverary?

Q4.
This flowchart shows how to calculate the cost of a bus trip to Glasgow  for a family.






















Calculate the cost of the bus trip to Glasgow for a family of 4 adults and 7 children travelling at an off peak time.

Q5.
Mr Swan’s expenditure spreadsheet has the following information :


Nissan 
3 years 
£1870


Baleno
4 years
£398


Mondeo
1 year

£4987
a) Copy and Complete the spreadsheet below. The data should be input into rows 2,3 and 4.

	
	A
	B
	C
	D

	1
	Car Type
	Years
	Cost
	

	2
	
	
	
	

	3
	
	
	
	

	4
	
	
	
	

	5
	
	
	
	


b) In cell D1 write the heading Cost per Year
c) Write down the amount which will appear in cell D2 when the formula =C2/B2 is typed into the cell D2.

d) The formula above is copied down into cells D3 and D4. 

What formula would you put in D5 if you wanted to find the average cost per year for his 3 cars into cell D5.

Outcome 3

Q6.
The diagram below shows the position of a ship which sailed from Dover. Use a protractor to find the bearing of the ship from Dover.






















Q7.
The diagram below shows a man who is standing 90m from the foot of a building. 

The angle of elevation from the ground to the top of the building is 34(. 


a) Make a scale drawing of the diagram. Use the scale 1cm : 10m.

b) Use your scale drawing to find the height of the building.


Q8.

a) Draw the net of a cuboid.

b) Draw the net of a cylinder.

c) Draw the net of a triangular prism.

Q9.
Calculate the total surface area of the triangular prism shown below.
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